1) What is the mass % of a solution containing 15.0 g sugar in 500 g water? 

2) What is the mass % of Equal sweetener in iced tea if a 250 mL glass of tea contains 0.75 g Equal?   

3) How much solute is dissolved in a 12.0% aqueous NaCl solution with total mass 100.g?  

4) How many grams of water are in the solution?  

5) What is the molarity of a 4.0 L aqueous solution that contains 1270 g K3PO4?   

6) What is the molarity of a 225 mL solution containing 35.0 g KF?  

7) How many grams of KNO3 are dissolved in 500 mL of a 0.1 M solution?  
8) Calculate the mass of NaOH required to make 2500 mL of a 0.343 M solution.  
9) If you wanted to make a solution with 2.0 moles of NaCl at a concentration of 2.0 M, what is the volume in liters? 
10)  A concentrated solution of HC2H3O2 is 18.0 M.  How much of the concentrated acid is required to make 2.0 L of a 1.0 M solution?  How much water is required?
11)
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a) Which salt is most soluble in water at 10oC?




b) Why does NH3 show the opposite trend in solubility from the other substances?

c) A solution of KCl is prepared by dissolving 30 g KCl in 100 g water at 70oC.  Is the solution unsaturated, saturated, or supersaturated?

d) A solution of KClO3 is prepared by dissolving 10 g KClO3 in 100 g water at 30oC.  Is the solution unsaturated, saturated, or supersaturated?

e) At 70oC, how much sodium chloride can be dissolved in 100 g water?

f) At 70oC, how much sodium chloride can be dissolved in 400 g water?

g) At 40oC, how much potassium nitrate can be dissolved in 200 g water?

h) A saturated solution of potassium nitrate is made with 100 g water at 60oC . How much potassium nitrate would crystallize out if the solution is cooled to 40oC?
1.Predict the products
2. Balance the equation

3. Label the products as aqueous (aq) or solid (s)

12)
a. Pb(NO3)2(aq)   +   KCl(aq)   (   

b. BaBr2(aq)   +   NaCl(aq)   (
c. AgNO3(aq)   +   NaCl(aq)   (
